



اسم: _____

التاريخ: _____ النتيجة _____

$$(3 + \frac{1}{3})^2 + \frac{1}{2} - \frac{1}{2} + 2^2 =$$

$$(\frac{3}{2} - \frac{1}{5})^2 + \frac{1}{2}(\frac{3}{4} + \frac{1}{3}) =$$

$$(\frac{1}{4} + \frac{1}{6})^2 + \frac{2}{3}(\frac{1}{3} + \frac{1}{2}) =$$

$$(3 + \frac{1}{4})^2 - \frac{3}{4} \times 4^2 + \frac{2}{3} =$$

$$(4 + \frac{1}{3})^2 + \frac{2}{5} - \frac{3}{5} + 4^2 =$$

$$((\frac{1}{2})^2 + \frac{1}{2}) \times \frac{1}{2} + (\frac{1}{4} + \frac{1}{5})^2 =$$

$$(\frac{1}{6} + \frac{3}{2})^2 - \frac{1}{3}(\frac{3}{5} - (\frac{1}{2})^2) =$$

$$(2 + \frac{1}{2})^2 + \frac{2}{3} + \frac{1}{5} + 3^2 =$$

$$(3 - \frac{1}{5})^2 + \frac{1}{2} - 2^2 - \frac{3}{5} =$$

$$(\frac{1}{5} - (\frac{1}{2})^2) \times \frac{2}{3} - (\frac{1}{2} - \frac{1}{6})^2 =$$



اسم: _____

التاريخ: _____ النتيجة _____

$$(3 + \frac{1}{3})^2 + \frac{1}{2} - \frac{1}{2} + 2^2 = \frac{136}{9} = 15\frac{1}{9}$$

$$(\frac{3}{2} - \frac{1}{5})^2 + \frac{1}{2}(\frac{3}{4} + \frac{1}{3}) = \frac{1339}{600} = 2\frac{139}{600}$$

$$(\frac{1}{4} + \frac{1}{6})^2 + \frac{2}{3}(\frac{1}{3} + \frac{1}{2}) = \frac{35}{48}$$

$$(3 + \frac{1}{4})^2 - \frac{3}{4} \times 4^2 + \frac{2}{3} = (-\frac{37}{48})$$

$$(4 + \frac{1}{3})^2 + \frac{2}{5} - \frac{3}{5} + 4^2 = \frac{1556}{45} = 34\frac{26}{45}$$

$$((\frac{1}{2})^2 + \frac{1}{2}) \times \frac{1}{2} + (\frac{1}{4} + \frac{1}{5})^2 = \frac{231}{400}$$

$$(\frac{1}{6} + \frac{3}{2})^2 - \frac{1}{3}(\frac{3}{5} - (\frac{1}{2})^2) = \frac{479}{180} = 2\frac{119}{180}$$

$$(2 + \frac{1}{2})^2 + \frac{2}{3} + \frac{1}{5} + 3^2 = \frac{967}{60} = 16\frac{7}{60}$$

$$(3 - \frac{1}{5})^2 + \frac{1}{2} - 2^2 - \frac{3}{5} = \frac{187}{50} = 3\frac{37}{50}$$

$$(\frac{1}{5} - (\frac{1}{2})^2) \times \frac{2}{3} - (\frac{1}{2} - \frac{1}{6})^2 = (-\frac{13}{90})$$